

۱

$B(2,1)$
 $A(1,-4)$

$m_{AB} = \frac{1-(-4)}{2-1} = \frac{5}{1} = 5$
 $l_{AB}: y - 1 = 5(x - 2) \Rightarrow y = 5x - 9$

l_{AB} را به l_{BC} می‌زنیم
 $l_{BC}: y = \frac{1}{5}x + \frac{9}{5}$

۲

$A(3,1)$
 $B(-5,7)$
 $C(-1,3)$

$l_{AB}: y - 1 = \frac{7-1}{-5-3}(x-3) \Rightarrow y - 1 = -\frac{6}{8}(x-3) \Rightarrow y = -\frac{3}{4}x + \frac{17}{4}$

$l_{BC}: y - 7 = \frac{3-7}{-1-(-5)}(x+5) \Rightarrow y - 7 = -\frac{4}{4}(x+5) \Rightarrow y = -x + 2$

$l_{AC}: y - 3 = \frac{1-3}{3-(-1)}(x+1) \Rightarrow y - 3 = -\frac{2}{4}(x+1) \Rightarrow y = -\frac{1}{2}x + \frac{5}{2}$

$l_{AB} \cap l_{BC} \Rightarrow -\frac{3}{4}x + \frac{17}{4} = -x + 2 \Rightarrow x = -5, y = 7$

$l_{BC} \cap l_{AC} \Rightarrow -x + 2 = -\frac{1}{2}x + \frac{5}{2} \Rightarrow x = -1, y = 3$

$l_{AC} \cap l_{AB} \Rightarrow -\frac{1}{2}x + \frac{5}{2} = -\frac{3}{4}x + \frac{17}{4} \Rightarrow x = 3, y = 1$

۳

$l_1: y = \frac{1}{2}x + \frac{1}{2}$
 $l_2: y = \frac{1}{3}x + \frac{1}{3}$

$l_1 \cap l_2 \Rightarrow \frac{1}{2}x + \frac{1}{2} = \frac{1}{3}x + \frac{1}{3} \Rightarrow x = -2, y = 0$

$l_1 \cap l_3 \Rightarrow \frac{1}{2}x + \frac{1}{2} = \frac{1}{4}x + \frac{1}{4} \Rightarrow x = -2, y = 0$

$l_2 \cap l_3 \Rightarrow \frac{1}{3}x + \frac{1}{3} = \frac{1}{4}x + \frac{1}{4} \Rightarrow x = -4, y = \frac{1}{3}$

۴

$A(2,3)$
 $B(1,1)$
 $C(-1,-3)$

$l_{AB}: y - 3 = \frac{1-3}{1-2}(x-2) \Rightarrow y - 3 = 2(x-2) \Rightarrow y = 2x - 1$

$l_{BC}: y - 1 = \frac{-3-1}{-1-1}(x+1) \Rightarrow y - 1 = 2(x+1) \Rightarrow y = 2x + 3$

$l_{AC}: y - 3 = \frac{-3-3}{-1-2}(x+2) \Rightarrow y - 3 = 2(x+2) \Rightarrow y = 2x + 7$

$l_{AB} \cap l_{BC} \Rightarrow 2x - 1 = 2x + 3 \Rightarrow \text{No solution}$

$l_{BC} \cap l_{AC} \Rightarrow 2x + 3 = 2x + 7 \Rightarrow \text{No solution}$

$l_{AC} \cap l_{AB} \Rightarrow 2x + 7 = 2x - 1 \Rightarrow \text{No solution}$

$l_{AB} \cap l_{BC} \cap l_{AC} \Rightarrow \text{No common intersection point}$

A' C - 124